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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

T 1- The geology student made a surprising discovery; the volcano believed tobe.............. was about to erupt.

1) dormant 2) temporary 3) affable 4) vulnerable
W 2- Wewaited for thestormto ........... before we left.

1) abase 2) abide 3) abridge 4) abate
R 3- Theminister desired the position simply for the ............ associated with it.

1) scope 2) status 3) origin 4) feature
X 4-The............ resear cher made sureto check her measurements multiple times.,

1) initial 2) vague 3) diligent 4) apposite
T 5- Denver’simpractical plan to build a subway systemwas .......... in 1970s.

1) surmised 2) scrapped 3) strived 4) scattered
®RD6 ... such as hair color and eye color areinherited genetically from on€’s parents.

1) Traits 2) Dimensions 3) Omens 4) Enigmas
W™ 7- Thecompany has............ $ 1000 to the team to get the project started.

1) ascribed 2) bestowed 3) deposited 4) alocated
TR 8- After aweek thejury had still not reached a............. .

1) status quo 2) sequence 3) verdict 4) suspect
™ 9- Heavy rainshad ............ the expedition’s progress thr ough the north-west of the country.

1) abandoned 2) hindered 3) evaded 4) distressed
™\ 10- Therattlesnakeisthemost ............ snakein the Untied States.

1) venomous 2) zealous 3) haphazard 4) ancestral

Part B: Cloze Test
Directions. Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

The ancient Romans built an extensive and (11) ... to serve their needs, The Roman road- building erabegan in 312
BC. The roads provided economic and military access from Rome to distant parts of its far-flung empire. The first
road (12) ... the Appian Way, which led, from Rome to Brundisium (now Brindisi), a port (13)... is now southern
Italy. The Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road, from Rome
to Naples, provided the first stage of the route (14) ... by troops headed to Africa. Roman advances in road-building
techniques included preparation of foundation soils and base courses, brick paving, and, (15) ... provision for
adequate drainage.

R 11- 1) roads of durable system 2) system of durable roads

3) durable system of roads 4) durable road of systems
T 12- 1) was constructed 2) was to construct

3) that was constructed 4) constructed was
T 13- 1) inwhich it 2) in what 3) whereis 4) whichitis
™, 14- 1) used 2) using 3) be used 4) was used
T\ 15- 1) the more important 2) most important

3) the most important 4) most importantly
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Part A: Vocabulary
Directions. Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

W\ 1- Yet lifeisnot literature, nor isliteraturelife thetwoare.......... )

1) consistent 2) distinct 3) temporary 4) adequate
W\ 2- Thehurricane would not have had such a/an ......... effect on the coastal village had the storm surge not
arrived during an abnormally high tide.

1) devastating 2) ultimate 3) calculating 4) obligatory

R 3- Federica expressed doubt about the existence of true altruism, claiming that no one makes a .........
without expecting to receive something in return in oneform or ancther.

1) facility 2) hypothesis 3) premise 4) sacrifice
T 4- As a supporter of the value of free trade, Bennett was often called upon to give speeches around the
world ......... the virtues of unencumbered commer ce.

1) monitoring 2) purchasing 3) praising 4) exchanging
W\ 5- Theeffortsto revive the local economy after the departure of thetown's largest employer were eased by

the construction of a new arts center that would infuse the community with much-needed ......... .
1) revenue 2) scheme 3) schedule 4) survival

R 6- Eagerly advocating rehabilitation, Gena has always believed that individuals who have been imprisoned

deservethe opportunity toreturn to society as........... citizens.
1) voluntary 2) crucia 3) productive 4) internal

™™ 7- With ......... approval, the parliament accepted the new law that would prohibit companies from
discriminating according to racein their hiring practices.

1) intrinsic 2) fanatical 3) sporadic 4) unanimous
W 8 Many medical researchers now believe that there is such a thing as being too clean.The " hygiene
hypothesis’ suggeststhat excessively sanitary conditionscan ......... a person'sresistance to disease.

1) initiate 2) diminish 3) abandon 4) undertake
TR 9- One popular misconception is that these subsidies produce lower food prices, and so area ......... to

consumer s. Thisanalysisignoresthefact that consumersare also paying for these subsidiesthrough taxes.
1) transfer 2) device 3) boon 4) status

T 10- As one of the most popular writers of the 20th century, Jack Kerouac authored several books that

......... toawidevariety of readers.
1) apped 2) attribute 3) appear 4) devote

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

The climate is expected to increasingly shape and (11) ......... by cities. In a vicious circle, climate change will
increase energy demand for air conditioning in cities. (12) ......... will add to greenhouse gas emissions. It could
also raise temperatures in urban areas (13) ......... 2-6° C. "Heat, pollution, smog and ground-level ozone [from
cities] affect surrounding areas, reducing agricultura yields, increasing health risks and (14) .......... tornadoes
and thunderstorms. (15) ......... on urban water supplies are expected to be dramatic,” the report says. Cities like
New Delhi, in the drier areas, will be hit particularly hard.
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Part A: Vocabulary
ceections: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
your answer sheet.

T\ 1- The two groups of students should be taught differently in that their learning needs are quite ......... .
1) bizarre 2) distinct 3) stable 4) reckless
TR\ 2- This mildly picaresque novel ......... a boy's flight from prep school to an eventful weekend in a big city.
1) recounts 2) accumul ates 3) asserts 4) restricts
T\ 3- The two companies worked in ......... and lowered their prices to make their rival company collapse.
1) ambivalence 2) validity 3) chaos 4) collusion
2\ 4- The U. S. was accused of ......... international efforts to combat global warming.
1) regretting 2) convicting 3) undermining 4) accelerating
™\ 5- Richard is so ......... that his diet consists almost exclusively of catfish and chicken liver — the two
most inexpensive foods in the store.
1) fruga 2) timid 3) selective 4) astute
2 6- Even after traveling 62 miles, the ......... runner kept on moving.
1) congenial 2) indefatigable 3) flimsy 4) indifferent
T 7- As we traveled to college for the first time, the family car was laden with books, clothing, ......... , and
other necessities.
1) warehouses 2) amenities 3) fragments 4) appliances
2 8- When Eileen ......... me to a fight, I could see the hatred in her eyes.
1) strengthened 2) derived 3) challenged 4) justified
TR 9- People like to be around George because he is so ......... and good — natured, so it comes as no
surprise that he has so many good friends.
1) affable 2) sarcastic 3) superficial 4) half - hearted
TR 10- The new tax policy was criticized in that it was argued that the rich were actually the main ...... of
the tax cuts.
1) hedonists 2) savants 3) benefactors 4) beneficiaries

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark your answer sheet.

Quantum teleportation exploits some of the most basic (and peculiar) features of quantum mechanics, (11).........
in the first quarter of the 20th century to explain (12)......... a the level of individua atoms, (13)......... the
beginning, theorists realized that quantum physics led to a plethora of new phenomena, (14)......... defy common
sense. Technological progress in the final quarter of the 20th century has enabled researchers to conduct many
experiments that not only demonstrate fundamental, sometimes bizarre aspects of quantum mechanics but,

(15)......... in the case of quantum teleportation, apply them to achieve previously inconceivable feats.
™\ 11- 1) invented a branch of physics 2) abranch of physicsinvented
3) abranch of physics was invented 4) that invented a branch of physics
T 12- 1) occurrence in processes 2) that processes that occur
3) processes that occur 4) processes of occurrence
™\ 13- 1) Since 2) Of 3) From 4) For
™\ 14- 1) someof which  2) some of them 3) some of those 4) of them some

™ 15- 1) dlso 2) as 3) like 4) sucha
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Part A: Vocabulary
Directions. Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
your answer sheet.

R 1- Being an honest person, shewas unwillingto ......... Peter in the swindle he had planned.
1) confirm 2) abet 3) jeopardize 4) impede
W 2- Thegirl issurrounded by so many possessionsthat testify to her family's.......... :
1) opulence 2) activism 3) propensity 4) elitism
T 3- The physician advised the ......... man to lose weight if he wanted to not be afflicted with different
medical complications.
1) craven 2) sturdy 3) immense 4) obese
A 4- Enlightened slave ownerswerewillingto ......... their slaves and thus put an end to the evil.
1) initiate 2) emancipate 3) efface 4) reject

TR 5- One of the most striking aspects of Indian cultures was the production of ceremonial costumes and
ornamentsworn duringreligious.......... :

1) rituals 2) subtleties 3) fashions 4) prefaces
™ 6- TheClarks ......... spending habits have put them in debt.

1) extemporaneous 2) divisive 3) extravagant 4) passionate
T 7- The people who had lost their homes in the fire tried to ......... whatever was salvageable from the
ruins of that fire.

1) confront 2) extinguish 3) exclude 4) glean

T\ 8- The new study will test different doses for safety. And scientists should be able to tell if the antibodies
......... some of Alzheimer's devastating mind-robbing symptoms.

1) emerge 2) predict 3) dleviate 4) precede

R 9- Coaches often tell their playersthat alittle nervousnessis good because it keepsthem on their ......... :
1) limbs 2) toes 3) fingers 4) feet

T\ 10- Without liquids or food, peopletypically ......... after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

Part B: Cloze Passage
Directions. Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark your answer sheet.

Like most people, students tend to be overconfident about newly learned skills. This self -assessment problem can occur

because the common educationa practice of "mass training” promotes rapid acquisition of a skill — and
sef-confidence — but (11) ...... retention of that capability. In mass training, instructors teach students in one or afew
intense sessions. Students (12) ...... such instruction quickly obtain the relevant knowledge. Y et skillstaught in this way
tend to decay rapidly, (13) ...... people remain unaware of this fact. (14) ...... more evident than in driver education.
Although millions of dollars (15) ...... on such courses, they do not, the data suggest, produce safer drivers.
& 11- 1) not necessary for the 2) necessarily none of the
3) not necessarily the 4) for no necessary
T 12- 1) undergo 2) undergone 3) by undergoing 4) undergoing
T\ 13- 1) athough 2) however 3) so that 4) then
T 14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be

T 15- 1) spent 2) are spent 3) being spent 4) that are spent
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PART A: Vocabulary
Directions. Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

W 1-That coovevnnnn.... car has none of the features, like power windows and steering, that make modern
carsso great.

1) hazardous 2) aesthetic 3) superficia 4) antiquated
TR 2- With several agencies regulating thereports, it was difficult for the accused to argue againstits............

1) anticipation 2) veracity 3) relevance 4) infamy
R 3- Since Jack did not want a speeding ticket, he tried to ............ the police officer by giving her a
compliment.

1) escape 2) reinforce 3) appease 4) convict
™ 4- Trudy studied harder, but therewasonly ......... improvement in her grades, so she agreed to get atutor.

1) unbearable 2) monotonous 3) commonplace 4) marginal
™\ 5- Living apes-chimpanzees, gorillas, orangutans, gibbons and siamangs-and humans share a constellation
of ......... that set them apart from other primates.

1) traits 2) disciplines 3) certainties 4) demands
R 6- Have you ever noticed how a coin at the bottom of a swimming pool seems to wobble? This occurs
because the water in the pool bendsthe path of light ......... from the coin.

1) differentiated 2) reflected 3) recognized 4) generated
T 7- Publicly available Web services (e.g. Google, InfoSeek, Northern light and AltaVista) ......... various
techniquesto speed up and refinetheir searches.

1) employ 2) determine 3) capture 4) specify
T 8- Owing to the protests of the Dominicans and other regulars, the book was prohibited in 1760, but the
second part wasissued ......... in 1768.

1) recklessly 2) profoundly 3) superstitiously 4) meticulously
TR 9- While admissions offices do admit many students with similar profiles, a collegeis till a ......... and
diver se community.

1) heterogeneous 2) anonymous 3) controversia 4) mundane
TR 10- Despite the security, the thief's ability to break into the museum without being caught remains an
......... to the palice.

1) authorization 2) illusion 3) enigma 4) infection

PART B: Cloze Passage
Directions. Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing between or within clouds or
between a cloud and the ground. The air surrounding the electron stream becomes ...(11)... hot -up to 50,000

degrees Fahrenheit -that it forms a resonating tube of partial vacuum ...(12)... the lightning's path. The nearby air

rapidly expands and contracts, ...(13)... the column vibrate like a tubular drumhead ...(14)... atremendous crack.
As the vibrations gradually die out, the sound echoes and reverberates, generating the rumbling ...(15)... thunder.
We can hear the booms from great distances, 10 or more miles from the lightning that caused them.

T 11- 1) enough 2) too 3) so 4) very
T\ 12- 1) and surround 2) that surround 3) surrounds 4) surrounding
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PART A: Vocabulary
Directions. Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

T\ 1- You might not be thinking about cholesterol yet, but high levels of cholesterol increase your ................
of heart disease, so find out what your level is now.

1) risk 2) level 3) strength 4) exposure
W™ 2- With the............... of the Inter net, working from home has become a real phenomenon.

1) demonstration 2) credibility 3) advent 4) dexterity
A 3- Theteacher was gratified to seetwo older students................ to settlethe playground dispute between a
number of third and fourth graders.

1) raise 2) encourage 3) promote 4) intervene
W 4- Even though the unemployment rate continues to ................ , voters are still unhappy with the
president’s economic plan.

1) restore 2) abandon 3) abate 4) delay

T\ 5- Her maudlin display of tears at work did not impress her new boss, who felt she should try to control
her ...............

1) emotions . 2) secrets 3) errors 4) restrictions
R 6- The heavy rain did not ................ , S0 they cancelled their camping trip.
1) emerge 2) evaporate 3) subside 4) collapse
W 7- Whitney is ................ about her shoes, arranging them on a shelf in a specific order, each pair
evenly spaced.
1) spectacular 2) fastidious 3) conscientious 4) conventional
X 8- Thisagreement isvery................ and open to variousinter pretations.
1) intentional 2) diverse 3) superficial 4) ambiguous
T 9- Because our instructor was so unclear, | had to continually ask him to ................ and repeat what he
was saying.
1) justify 2) clarify 3) emerge 4) improvise
R 10- Because of thechef's................. cooking style, hisfood iseasily identified in ataste test.
1) experimental 2) flexible 3) distinct 4) constant

PART B: Cloze Passage
Directions:. Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory, you would not be able to

drive to work, hold a meaningful conversation with your children, (11)................ abook or prepare ameal.

Memory has fascinated humans since (12)................ Plato famously compared our memory to a wax tablet that is
blank at birth (13)................ on the impression of the events from our life. Only in the past hundred years, though,
(24) s systematic objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability to remember verbal and
visual materials (15)................ more recent brain-imaging approaches.

T 11- 1) then read 2) reading 3) toread 4) read

T 12- 1) ancient times 2) ancient time 3) time of ancient 4) times of ancient

T\ 13- 1) slowing taking 2) to slowly take 3) and slowly takes 4) that slowly takes
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PART A: Vocabulary:
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

2. 1- In the central highlands of New Guinea the sudden ......... from the society of the stone ax to the
society of sailing ships (and now of airplanes) has not been easy to make.

1) manifestation 2) deterioration 3) transition 4) sophistication
™ 2- | want your help with my literature review. .............. to the email are some questions. Please
answer them.

1) Raised 2) Posed 3) Inquired 4) Attached

™. 3- There is no single or widely used definition of children's literature. It can be .........

defined as anything that children read or more specifically defined as fiction, non-fiction,
poetry, or drama intended for and used by children and young people.

1) broadly 2) optimistically 3) controversialy 4) neutrally
™4 When many of the spoken languages of the Native American Indians were ......... as a
result of colonialism by English, French, Spanish or Portuguese, they became extinct.

1) distributed 2) replicated 3) illustrated 4) replaced
™. 5- During the winter storm, the road conditionswere so ......... that schools wer e cancelled
for aweek.

1) reckless 2) deplorable 3) superficial 4) erratic
™. 6- Laying a bouquet of flowers and the gift-wrapped doll upon the bed, the young mother kissed the
deeping Soha and said this ......... : " A happy birthday, and God blessyou, my daughter!"

1) beneficence 2) malediction 3) benediction 4) valediction
& 7- Peoplewho ......... their dreams do what they love and they go for greatness.

1) chase 2) involve 3) gather 4) require

& 8- Attention is essential in achieving anything. If you can't pay attention, you can't get the job

1) taken 2) made 3) tried 4) done
™ 9- Everything man-made around you was .......... athought in someone's head.

1) socially 2) originaly 3) quickly 4) desirably
™ 10- The strength of the United Nations is dependent upon the ............. of its member
countries.

1) encounter 2) assumption 3) cooperation 4) urgency

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

| can put my cash card into an ATM anywhere in the world and take out a fistful of local currency, while the
corresponding amount ...(11)... from my bank account at home. | don't even think twice: ...(12)... the country. |
trust that the system will work.

The whole world runs on trust. We trust that people on the street won't rob us, ...(13)... the bank we deposited
money in last month returns it this month, that the justice system punishes the guilty ...(14)... We trust the food
...(15)... won't poison us, and the people we let in to fix our boiler won't murder us.

& 11- 1) to debit 2) isdebited 3) debits 4) debiting
& 12- 1) in spite of 2) inrelation to 3) no matter 4) regardless of
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PART A: Vocabulary:
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

T 1- Animal husbandry is the branch of agriculture .............. with animals that are raised for meat,
fiber, milk, eggs, or other products.

1) handled 2) concerned 3) included 4) interfered
R 2- Named by Portuguese explorer Ferdinand Magellan, who believed it to be free of ............. storms,
the Pacific Ocean isnot, in fact, so pacific.

1) violent 2) distant 3) temporary 4) pointless
T 3- Animal rightsis not just a philosophy—it is a social movement that .............. society's traditional
view that all nonhuman animals exist solely for human use.

1) asserts 2) magnifies 3) distinguishes 4) challenges
T 4- If people can raise enough fish on farms, it standsto ............. that they will be lessinclined to hunt
them from the sea.

1) logic 2) rationality 3) reason 4) attention
W 5- Theprogrammer ........... an analogy between the human brain and the computer.

1) drew 2) bore 3) took 4) put
®W6-The............. of the editor's comments made usthink that he hadn't really read the manuscript.

1) intensity 2) ignorance 3) tolerance 4) superficiality
™ 7- The two boys tried to sound .............. at the police station, but they weren't really sorry that they
had herded the sheep into Mr. Ingersoll’s house.

1) resistant 2) impatient 3) regretful 4) indifferent
R\ 8- Though he spoke for over an hour, the lecturer was completely .............. and the students had no
idea what he wastalking about.

1) solitary 2) inarticulate 3) curious 4) effortless
T\ 9- For years no one could make this particular therapy work in animals larger than rodents, but now
two research groups have demonstrated its.................. in dogs.

1) efficacy 2) restriction 3) sympathy 4) vulnerahility

T 10- The African elephant has become the object of one of the biggest, broadest international efforts yet

............ toturn athreatened species off theroad to extinction.
1) intruded 2) explored 3) mounted 4) compensated

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Scientists first recognized the value of the practice more than 60 years ago, when they found that rats ...(11)... a
low-calorie diet lived longer on average than free-feeding rats and ...( 12)... incidence of conditions that become
increasingly common in old age. ...(13)..., some of the treated animals survived longer than the oldest-living
animals in the control group, ...(14)... that the maximum life span (the oldest attainable age), ...(15)...merely the
average life span, increased.

X 11- 1) werefed 2) which they fed 3) fed 4) feeding

™ 12- 1) had areduced 2) they reduced 3) were reduced 4) that it reduced
X 13- 1) Although 2) While 3) What is more 4) So that

X 14- 1) meant 2) which means 3) means 4) it means

X 15 1) no 2) nor 3) neither 4) not
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PART A: Vocabulary:
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

™\ 1- Living closeto alake meanswe havean .......... supply of water.

1) inherent 2) abundant 3) inconsistent 4) eclectic
R 2- The advertisement for theweight losspillsisvery ............ since studies have shown they’reineffective.

1) persistent 2) interminable 3) sensitive 4) misleading
T\ 3- Thetwins hated to be apart, so they bought housesin close............ to each other.

1) pertinence 2) proximity 3) acquaintance 4) scrutiny
TR 4- With few new jobs created, the economy hasremained ........... for the past five years.

1) conservative 2) unfeasible 3) stagnant 4) impassive
T 5 Two days after the flood, fortunately the seawater finally beganto .......... from our house.

1) recede 2) secede 3) proceed 4) intercede
T\ 6- The business used only to make bicycles, but they’venow ........... arange of other cycling products.

1) diversified into 2) emerged from 3) reverted to 4) stemmed from
T 7- The audience clearly loved the play—the ............ was deafening. So it's not surprising that it got
glowing reviews.

1) merit 2) rivary 3) applause 4) benediction
¥\ 8- Experienced Iditarod runnerstried to ........... Gary Paulsen from competing in the grueling Alaska
race, but they were not successful. Thewriter and histeam of sled dogs nearly perished during the race.

1) dicit 2) derive 3) snatch 4) dissuade
T 9- The Kalapalo Indians, who live on the savannas of central Brazil, havelittle ........... to change their
leisurely lifestyle. They work just several hoursaweek to provide food, their only need.

1) disinterest 2) impetus 3) impact 4) rigidity
™W™WI0-.......... by the rude behavior of the clerk, Ms. Caine reported him to the manager. She believes that
customer s deser ve cour teous treatment, even when retur ning mer chandise.

1) Withdrawn 2) Arisen 3) Restricted 4) Incensed

PART B: Cloze Passage:
Directions. Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

While elephants are often one of a zoo's top attractions, a new report charges that their level of care often fals short
of star treatment. In a study ...(11)... this week, the UK's Royal Society for the Protection of Cruelty to Animals
(RSPCA) said elephants in European zoos are often unhealthy, ...(12)... considerable stress, and have a much
shorter life than their counterparts in the wild. Their condition is frequently even worse than ...(13)... in Asian
timber camps, alleges the RSPCA, ...(14)... is calling for wide-ranging changes in the way ...(15)... . In the
meantime, the group says, European zoos should stop importing and breeding elephants.




@ YT 0 gl 15 K 4y S b 3l pbo 89 sl 03T doliuly

OB 39 gl s
S92 Gl 45 2 (59, 1) oud Lkl 4 5 (w9 Lo Ol alor pa (33903 ol 512 1) (F) L (F) oY) () @ylae b 4ol (0 i s ol ygimwd

“peend Slol 8 Ol o3 s Lo aS ol pagie (s 4zl o W0 H0 (S5« a5 )
oad cpanlS (F Saaleals 1850 Olglyg lg (¥ Sk 515 ()
L R S
it il il 45w o s Sl |5 el ouiiSel 108 JLas 059 20 5 68V slage b b ye Sliks «Fr a8 Y

amo‘ﬁf (f IXCEL O ‘U"‘L‘"‘? (Y‘ ).\\AJL\QL)L’ 4LSJM PLo.a (Y w),w g)‘AJLJ (\
Lo IR I o4
5,5 (6l KaS Dyl jo olbdails bl es 4y ings yaite ol las jl laglias «Pr aly ¥ LY
WBhge 5 385 (o) 2 (F sl S0y D jgle (V Sl calaly oy ()
Lo IR I o4
sl 0le 05T Slaidl Bl Lo gy (b 0 (so5 Jelio olo) bl 4y «¥r 4y 35 F
Lo IR I o4
(05 A55,9) 05 (e Lo sladils l plosil s 50 Of wilisedigs s £585 3l a3, 90 <D 4y 35 -0
00,5 ablug (9,5 sl yoly (F 00,5 pladlcyols aslsl (¥ Oblaz (¥ by e (0,5 iSe,8 ()
S O O o

s a&s}é‘ é9> 6bk_ﬁJl” FEONRS B ‘_,’45)\)? UYM )fué )l leo]».mf .\.Jj.v l.i sSu.ﬁ‘ Ll cg_,ol...usa 4}?5& lags SL& ‘)lf 9 k_MMS U”‘ «» 4.:0;_9

el 8929 a5l ok Jlagay (Y 00958 095 Codlad aials 4y (40,5 g9t (s yundisy 455 ()
o 4t 4 o) Lz e GRS (T
Lo R AR

oo 955 anliioles )1 a5 Cans jgleams cplplo g jglalomw 3985 glae Widg asliiale ol Gole lalols 4 op zeoly «¥» &35 ¥
0,5 byl glas e

Lo R AR

B0 Jg S G paie YT gl Bedlb abluse jo &S ,0 5 1, €udgil (6,5 B 0s,S oM 0 kua] dislas 4,6l LS50 «Fr 4y 35 A
s 09l Loyt dilase b 5o oled g ped K 5,5 g o

O Bl (V I g oyl Eaels (3
O i ) oS 6T, 03,8 B pats (F 091 Kz 4y yamlE (¥

el o MBS 63l 5 S yob o0 oalisiwl Jlgo & 90 55 45 WILEX o3ls Ylazs :aiSS

Lo R AR
30 LT 5 )ls 0g5 T (S S pdd Gl (05 0551 S o Sy iy S e lses slaciis jo a5 JLYI fliwss e «Pr a4y 3F A
S oo )1 il oo il L oS 1ae ags gl celu wis ladd anan

e (F IR oS3l (Y b ( SBle o ()




@ vl 31 il )15 59 4y iyl (ol ye 1Foo gyl g 3037 Y1

1Foo gyl (39037 S¥15w ,

o g o908 )

PART A: Vocabulary:
Directions. Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.

™\ 1- Duringthe ............ between arriving at the airport and boarding the plane, we'll probably do a bit
of window shopping.

1) interval 2) intervention 3) imbalance 4) inconsistency
T 2- That ugly vacant lot ............ from the beauty of the neighborhood.

1) depletes 2) derives 3) detracts 4) deviates

T 3- At first, the Savings Mart didn't do well, but after it lowered its prices and increased its advertising,
thestorebegan to............ .

1) prosper 2) subside 3) arise 4) strive
T 4- The movement of clouds may seem tobe ............ , but scientists know that thereis a pattern to how
they move.

1) compatible 2) specific 3) transient 4) random

™\ 5- Since my math class was very difficult for me, | consider the B that | got for the course to be a great

1) illusion 2) triumph 3) obligation 4) disapproval

™ 6- The hardware store sdls ........... stones made of plastic that you can open and hide a house key in.
Then you can hidethe key by leaving the " stone" somewher e near your door.

1) confidential 2) artificia 3) superficia 4) metaphorical
W\ 7- Rhoda’s budget is so tight that she felt it would be ............ to buy herself even a ten-dollar pair of
earrings.

1) plausible 2) tangible 3) sufficient 4) extravagant

TR 8- When the climbers reached the peak of the tallest mountain in the world, they felt it wasa. ............
occasion and werefilled with pride.

1) momentary 2) moribund 3) meticulous 4) momentous
T 9- The ramification of committing a murder is to serve a prison sentence even if you ............ your
actions.

1) implement 2) renew 3) regret 4) exceed
T\ 10- It is often an attorney’sjob to construe the meaning of a contract and then sharethat ............ with

aclient and, if needed, with ajudgeor jury.
1) justification 2) interpretation 3) transformation 4) condemnation
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